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1. Write the equation of a circle with center at (—7,—4) and is tangent to the x — axis
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2. Write the standard form of the equation of the circle that is tangent to the line x =3 and has center
at (-2,-7).
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3. Acircle is tangent to the y-axis at y =3 and has an x-intercept at x = 1. Determine the equation of
the circle. (03)

hk xy center (5,3) <o (=5
center rangeny - (x,3) and (0,3) (-x)4ast?
(0- %)% (33)% 12 RES I'(x.s)u(q.;)*.- 2 /
®ieot Wx)x) 1=
ek b-axanagsxt
ne 1-ax49:0 \
Conker + nereept: (X.b)orﬂ (lO) 34100
(-x) 4 (0-3) % 2 ~an=A0
x=5
4. Please write the equation of a circle that passes through the origin, has an x-intercept at 1 and a y-
intercept at 2. (0,2) (KO.g) (\0)
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center (-2,3)  vadwi:ya=3
4. Is the point P(3,4) inside, outside, or on the circle with equation (x+2)* +(y—3)=9?
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5. Given the equation of the circle (x —6)* +(y +2)* =9, determine if the line x =9 is a tangent to the

circle, a secant to the circle, or neither. X _‘y A
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Graph the circle (x — 4)2 + (v + 2)2 = 16 and the line with the given equation. Determine whether
the line is a tangent or a secant. v
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